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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = Uiy 74
U)“Jkuj;ﬁl u’}”i}'l JJ;}}I ;;ﬁl Lﬂgc-f‘c_d-bfﬁfffédujb?&( ]—I
Insurance The company undertakmg the act of

policy Insurance Insurer Insured insurance is called :
.f‘;f Kusrss | 9L A (et Dl :z‘;.L"IJr'/ AUB=BUAZL L B sl A Uscss 2
Complement | Demorgan’s | Associative | Commutative | For any two sets A and B, AU B = BUA is
of two sets laws law law called :
{f&ﬁl il d x In /3 , 3iscalled : 0.0 L RY-HNE) :
i Integer Radicand Radical ’
. 4
ool Lot fy Ay ke ke R = —nl— is called: : ;.VLH’KH = -—-31—
Harmonic o a3 =
Mean ", Mode Median Z( xJ Z[ xj
1 5
: 10 1 7 I{-Jg 6 70%
100 7 10 Fraction form of 70% is :
d\? IS &4 J), :w&fg-_,u‘;r/d‘b&b.éﬂzqu_;‘f)’ 6
. N ) The return earned by the bank on loan
Profit Mark-up Premium Bonus is named as :
+3 +36 +9 +6 L ebod Al — 1203 |
G.M. between —3 and — 12 is
22500 | 4325000 | &2,15000 | &5:2000 ¢ B §57542-1,00,000 | 8
Rs.2500 Rs.25000 Rs.15000 Rs.2000 Zakat on an amount of Rs.100,000 is :
_d _ g 4 "‘.": ; : y=?‘£..gx x=1L 2x+y=6 9
o 2n ' Forx=1 in 2x+y=6, we have y=? :
oS S doAl e Cell (B4 TUSIST 7 208S s | 10
. < i X ed on all the taxable
Income tax Sales tax | Excise duty$? ; ﬁd
2 j 2 'f«,; ,jt)‘,t){{ .../B/r.:.dwdﬂ’ 11
20% 10% 5% " .#MOn.a crop,producgd on natural resources
Ushr 1s£ ctg!fat the rate of
12
17:15 19:15 15 :19 15:17 #h“fuv'tf” 95

Lowest ﬁorm of 15 Y95 is :

b“ﬁ;{i’g S ST WSk The tax in ! gﬂd,’ffuﬁ-“éwuf—‘-»gdljtf( &
Excise duty Tax Income tax | Salestax | addition to the price of the article is called :

. . - . - (9% 2] (19 L} byl " - - 14
gy | et | oty | S [ MIHESTE Lo

Consequent | Antecedent Means Extremes | M2 proporl.lon R e tar o 0
are called :
j > l
9 6 0 3 f 18 ASa,=n+3 [P

Third term of a,=n+3 is :
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(PART -I dsf,.ﬂ? )
12 2. Write short answers to any SIX (6) questions : : ....-Ll? AL ey (6)»"4;4;)’ 2

(1) Express 1.26 as percentage. _éS!JJUK’Jydfl 26 (1)

ér)h’._ﬂf’ulfné,/dd,u 150 JJ'/GL.!J 160 (ll)
(i) Find the ratio of Rs.160 per meter to Rs.150 per meter.

3

(ii1) Express ratio %g in its simplest form . -a”aﬁw@’% :-g e (iii)

(1v)  What is exposed wealth? ‘et (iv)
Z #5018 500000 (V)
(V) Calculate the amount of Zakat on an amount of Rs. 5,00,000

w120 L858 =wsyped Gl e it (Vi)
(vi) Find the marked price, when SP = Rs.858 , Discount = 12%

(vii) Define discount. e Jled (vid)
(viii) Define loss. Ey S SAS (viid)
(ix) Define current account. EySewies S (ix)
12 3. Write short answers to any SIX (6) questions : 48 edlz A L ey (6){443/ 3
(1) Define cheque. -é-e/JJwg @)

(i) Define sales tax. Ew Sl oss kG
(ii) Define excise duty. E g (j;_’i)fl,-!:/l (iii)
(iv) Express in exponential form : 3 x:i}g D EdrAFdied (v
(V) Write 89.99 in scientific notation A 8999 (V)
(v1) Write down the value of log 52.13. i@/_‘.»gd,log 52.13 (vi)
(vii ) Find AM. between +/7 and 3/7. SZE e P sl T s T (vid)
(viil) Find G.M. between 2x? and 8%, _érP bsd Ao nd 8yt sl 2x% (viii)
(i) Findthe 7" term of GP.2,8,32, —  .&¥u/,7 £2,8,32, e 135 (i)

12 4. Write short answers to any SIX (6) questions : : & A2 A L iy (6)14:.(;/ 4
A={a,b,c}s B={a,e,i,o,u}/i & AUB @
(1) Find AUBIf A={a,b,c}andB={a,e,i,o,u}

(i) What is meant by intersection of sets? S il i = Celur (i)
(i11) Define set of rational numbers. : EE PlerZaPr (i)
(iv) Define ordered pair. RIS IO >~ (Gv)
(V) Convert 20 °C into °F . ESrEFS20°C (V)

(vi) Express B (0,7 )on graph. ...‘Z{.:m%h.slffB (0,7) i)

( 2?-‘3» )
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LB~ 91 ..
_"5__{(:1*’”!:8’6, 2,4,3,4,5,4,5 oLty (viD) 4
4. (vil) Forthe dataset 6,2, 4,3, 4,5,4,5, find the mode.
sets OE o
(viii) Find the range for the/data 2,9, 3,6, 12, 8 -2 =02, 9,3, 6,12, 8 s (viii)

(ix) Define median. fei Ve by (iX)
( PART —II (324 )
Note : Attempt any THREE questions . o2l ety f eSS
c)!(u&.ni-ﬁug:i}n%Jé.sl}:_./f‘;u:r 60° 151 48° '“L;fjngﬂ-ﬁwﬁ‘—g () 5
4 e

5. (@) Two angles in triangle are 48° and 60°. Find the ratio the third angle
to the sum of the first two angles.

4 &3 20,00,000 CC,LG?!»d/u’l;uné._b{é,»nbﬁbgé’é.ii.f S L)
_gr;l”.:g’{.d/,-ﬂ?ﬁh.{l/r‘:.(ﬂ

(b)  The inherited property amounting to Rs. 20,00,000 is left by a
deceased. He left behind a widow and two sons. Workout the
share of each.

4 S0/ e adi20 LS 231 ptess 2700 S/ fizvgl (O 6
ke

6. (a) A trader earns a profit of 20% by selling a chair for Rs.2700. Find the
cost price of the chair:

4 ' &1s 9400 o f I i Bt ;uwum%% dbadt €
Ll 210951

(b) How much time a sum of Rs.9400 will take to become Rs.1 0,951,

if the same is invested @ 3%% p.a?

4 Vosd K g 2816% ¢ S alifiie ¢ 04000 230 fLG0G (D) 7
, Sk (SEK S 302
7. (a) The price of a tricycle is Rs.4000. If 16% sales tax is charged, then
calculate the amount of sales tax on 30 such tricycles?

(b) Showthat :  3log2+log5=log40 D Zet (L)
4 -ér}h’ .!v:d/‘ JJUL/J)Z % »s4 (H) 8

8. (a) Inserttwo G.Ms between 4 and % )

MA={2,3,69}.U={1,2,3,4,56,7,89}/1 ()
4 (AUB = A "B Zewi » B={1,3,6,7,8 }

(b) IfU={1,2,3,4,56,7,8,9},A={2,3,6,9} and
B=1{1,3,6,7,8} then prove that (4 U B)® = 4€ ~ BC

4 9. (@) Sketch the graph of y =3x+4 -g_}l/’b’ y=3x+4 =bi- (D) 9
4 -,‘_ér’h)h:-ﬁjd’"u“)dﬂi:"éé 1 )23 35 4: 65 8’ 11 sty ("‘." )

(b) Find the standard deviation for the values 1, 2, 3, 4, 6, 8, 11. Also
find the variance in this case.
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D € B A Questions / = tiv R
Pl » fe Y BT PSS A G |
- 5 The percentage of profit / mark-up
Principal Interest Time Rate charged is called :
¢ (1,3 | 2.3y | (1.2y |1u-4=29nA={1}U={1,2,3,}/i|]
IfU={123},A={1}then U-A=2:
. i 3
Jﬁé‘ 4 nk M'ubt. 37 is called - - VT
Integer Radical Radicand %ﬁgﬁ;g—i 4:"
Lol s Ll b 4.(_}1}"(4.. l..p/ﬂ)l.;&-...-fu’-::l:‘(f(?ux’u 4
Geometric S p The score which occurs most often in a
mean Median Mean .- Mode set of data is called :
200 20 120 12 20% of 600 is . 20%6600 =7 |3
" P b T " T Sy -
bl | sk A~ Iod 8 :;;;fb’ﬂ Bt fous | 6
" " A machine installed by the bank to e
ATM Card reader Scanner Computer | gisnense cash to custo?ner is called a/an *
34 30 31 32 «t7 01212,16,21,27 |7
Next term 0f12, 16,21,27is :
422500 | 422000 £-2,15000 e W3 U35 442100,000 | 8
Rs.2500 Rs.2000 Rs.15000 Zakat on an amount of Rs.100,000 is :
(1,0) (0,0) Ll b Liar |0
) ' 4 ie co-ordinates of origin are :
. ; - Lﬁ;‘JI);huﬁ.é/JL’(JJLJ( 10
Y o
US04l ‘-"@f' { : 4;1‘(_?/
Property tax [ncome tax ayf on a manufacturcd
S { purchase is called :
! . B, WAID, S 26 P30 | 1]
20% 10% 3% MC o ‘3;" duced on natural resources
Ushr is dcductcd at the rate of :
5.5% 4.5% 2.5% 3.5% e WL PSR | 1
Zakat is deducted at a rate of : .
&db’UﬁC)TJJU:ZZa{L-_MSLJJTJ?r’Ju 13
: ;.-S.u,?{l . ;ui.u_,";fa.ﬁ? dgs;fl-ﬁ OS5 c.(}llﬂ(adb&:l[_/b{ul.yui)ul
, ; Ta M that t be paid to the state charged
et Eropertytax Exeiseduty i asc;)r:_ey omonmuosf 1nigr?11e a?ld Ifrgft added to
cost olE some goods and services is called a :
. 14
17:15 191 15 15 : 19 15 : 17 %?‘PU*'J75-95
Lowest form of 75: 95 is :
15
4.L—'? JL( Ja
0 1 1 1 " (2n 1)2
g E 2 j |
1 + ! Fourth term of @8 =———— is :
(2n-1)
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( PART -1 dsl,ﬂ? )
12 2. Write short answers to any SIX (6) questions : 4 AR AL =y (6)1;ng 2

(1) Express 120% as decimals. 2 Jx S 21 120% (1)
(i1) Express the ratio -§— :2— in its simplest form . A FuT %- :—;— e (i)
(ii1) Define proportion. sy $ort (il

S LS n2 58S UL 116398 S22, 3000,000 sl L L Gv)
(iv) A person left a property amounting Rs. 3000,000. Calculate the share of his wife, if

he had not any child. )
(v) Define loss. \ -’ff...y > . J U (V)
(vi) Calculate Ushrona 2y ¢ 2 44123,50,000 Cij WU rﬂiﬁf{t_@;—du}J (Vi)

wheat crop amounting to Rs.3,50,000 produced by artificial resources.
w12 =l « 312640 ST R .éz-f_’:r)”»j:.f (vii)
(vii) Find the cost price (CP) when SP = Rs.2640 , loss = 12%

(viil) Define discount. _ -é‘.—é{ 7 Ses?  (viid)
(ix) Define bank draft. o losg (X
12 3. Write short answers to any SIX (6) questions : .24 Az A2 L ey (6)4{1_43; 3
(1) Define pay order. oS Sl (@
(ii) Define tax. Se st fe o8 (i)

I SIS e SEOSEK 16% AR g 3080024 Tnd L Gid)
(iii) A computer price is Rs.34800 inclusive of 16% sales tax. What is the original
price of computer?

(iv) Write in scientific notation : 0.051 0051 : i (v)
(v) Solve : log(x+3)=2 cZS W)
(vi) Solve : log243 ZS i |
log9
(vii) Write the first three terms of : a, =3Ln :a"rﬁ nl Jﬁ: (vii)
(viii) Find G.M. between 3 and 27. e bl Pule sl 27 43 (Viid)
(ix) Find A.M. between 7 and — 3 . -éf’:‘” b3 nd -3 0 7 (X)
12 4. Write short answers to any SIX (6) questions : ! 4 Y 4 AL =y (6){:'_.6/ 4
(1) Write the De Morgan’s laws. @3 aic,r";td} @)

ZrBxAcAxB J#B={3,5,7 }« A={L,mn} /1 G
Gi) fA={Lmn},B={357}thenfind AxB ,BxA
(iii) What is meant by Venn diagram? Cest e Jeiys (i)
(iv) Represent the points H (5, 0 ) on a graph paper. s ﬁwqu/ SH(5,0) & Gv)

(v)  Write down the -K‘f?i 6 é:,c_.;f—x 1.8y b lgl.?.éi(.&!ufé:bﬁ; )
co-ordinates of a point lying below x-axis and on y-axis at a distance of 6 units.

( 2';_)“13 )
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4. (vi) Convert 220 °F into °C. ESLACS220°F (vi) 4

(vil) What is meant by frequency polygon? S sl P Ll A6 (vid)

(viii) Find the range of the given data : o e Sardes (viii)
6, 8,10, 14, 13,12
(i) Find the standard deviation of the values :  : &2 # il SISttty (iX)
2,3,6,8,11
(PART -II (224 )
Note : Attempt any THREE questions . epzlatirf edy s
AL I Sty 26% £22 62% « SUFLEL L5 L (D) 5
4 ?L.Jké

5. (a) A hockey team won 62% of their matches and 26% of them were
ended in a draw. What percentage of the matches they lost?

e ¢ SpdUle LS5 12 S =S L 2,24,00,000 5Tl (&)
4 (b) A person left a property of worth Rs.24,00,000.  -Z£¢s oKL
Calculate the amount of share of his wife, a son and a daughter.

4 Lo L B2 L PAETE £133,000 LaskL (D) .6

6. (a) Distribute Rs.33,000 as a profit in a business w335 3&
regarding three persons if their shares are in the ratio 3 : 5 : 3.
4 0ty ss 850 Ut 4 b 3 Lo gss680 fakilt o ()
(b) At what annual rate of profit would a sum of Rs.680 will increase to
Rs.850 in 3 years and 4 months?
4 T3 S BAE150% ged et ctabbss K55 1000 LIGTLl (D) .7

?Jﬁdﬁ:ifzdyjc.l;ﬁé.u 5,00,000 :.-A:f'd/.f(
7. (a) A man wants to purchase a car of 1000 c.c. He has to pay
150% excise duty on price of car. If price of the car is Rs.5,00,000,
how much amount he has to pay to purchase the car?

4 (b) Solve with the help of logarithm table : :{f_fd'a.uJJugZZJb’:’ (<)
- 8.67 x 3.94
1.78
4 ..élwdﬂ&?glgc)ynﬁ 9% .53 (9) 8

8. (a) Insert four real geometric means between 3 and 96.
B={6,8,9)} s#A={4,6}:U={4,6,8,910}.1 ()
4 (AUB)C= A NBC Ztin
(b) fU={4,6,8,9,10},A={4,6}and B={6,8,9}
then prove that (AU B = A€ ~ B¢

4 9. (a) Draw the graphof y=3x _gdl/?yzh 1) .9
4 s 2es b6 3,5,6,8,8,91007 ()

(b) Forthedata3,5,6,8,8,9,10, find mean, median and mode.
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